W8 o B[ ]

,ﬁ g . & 8

erefiéd 2 6 Iy smer.

.
-

B

=
1%, 1_% .

—~ ’ —
e M0 =0 gy 0 e
- n T .
O] S Ca ad
i %9 |0 @ @



61.

6.  Which one of the following has a terminating deciinal expansion?

S w - ®

9
© 35 ® &
DeraumaIRTB D 61E) QP S910p Sies? |

W o ®
© X o

Find the value of \/383+\/302 164 +28- 9

(Ap 19 (B) 16
J 20 D) 22

WALy & e : \/383+\/302 -J164 ++J28 -9

(A) 19 (B) 16

© 20 (D) 22

'90. Convert 145 into £ form _
. ,q .

11 ' 16
ST | J T
@ 3 .

14 : 45
(© T : (P) m

1.45 .E -qa cuigefld Lomp s

o1 16
(A) 16 - | : By T
Lo B o £

11 11



91.  Find the vaiue of

_121+ 461+ V2641 ﬁ _

(A} b J—ﬁ
© -4 D 4
LodltiLy st

ﬂf—-121+#~ﬁ1+3-26+?-_1

(A) 5 By -5

<€ -4 D 4

97.  Simplify :
1 Hectare : 150 m?

O 200:3 (B) 2000:3
(C) 20:3 D) 2: 3‘
&(HEES
1 Qamaun: 150 152
(&) 200:3 (B) 2000:3
© 20:3 ™ 2:3

3. If57-[42-{37-(20-x)]]=176 +(8 +2) then x value is.
a) 42 (B) -12

\ﬁ) 12 (D) -42

57 -[42- 37 -(20-x)]| =176 + (8 + 2) eraflcd x @ AU wirgy?
Aa) 42 (B) -12
© 12 (D) -42

4. Simplify : V48 - 34108 + 2427 ++/192

@ 3 A a0

€ 243 D) 3v3

H(HEGS : V48 - 31108 + 2427 + /192

A B (B) 0
© 243 (D) 343



(o SRR W U e s |
A13. Simplify [32 : {1—4—--2- (2-2-_275]}]

(A) 68 ) 78

(C) 42 (D) 24
; LS [P ol V(6 R R

R [33 7{14 2 (22 4 6)}]

(A) 68 ' ®) 78

(C)y 42 D) 24

- - f { \2
16.  Simplify L(:}GO x 260) + ———l—j ~| 260 - _1_J =
( 104 x 104 .

@) <1 B) 26
j 5 ' (D) 104

. 1 8 | 3
260 x 260 260 =] =
FMEGS (( < 260) + 104x104) ( 104)

@ 7 (B) 26
@ 51 (D) 104




19. 217x217+183x183 =2

(A) 79698 J 80578
(C) 80698 (D) 81268
217x217 +183x183 =7

@A) 79698 (B) 80578

(C) 80698 ; (D) 81268

43, The value Of(&Ex&.ﬁxﬂ.ﬁwﬁ.dxﬁ,dlxﬁ.d] o

06x96+96x54+5.4%5.4

&) 51 (B) 4.6
4.2 - D) 15

9.6:-:9.6:-:9.6-5.415,4::(5.4] . .
. en Al Lreng,
96x96+96x54+54x54 -

a) 5.1 | | (B) 4.6
© 42 N (D) 15



85. Simplify 8988 :8+:4
(A) 4494 B) 561.75
(C) 2247 v 250875

SmaEs 8988 + 8+ 4.

(A) 4494 (B) 561.75
(C) 2247 (D) 280.875
18 Tetx=1+ 2 1 1 : Which of the following is mrrelrct?-
1+
14= 1
1+..00

(A 2Pex+1=0
B x*-x+1=0
@ xf+x-1=0

\J ¥ —x-1=0

x =1+ —————— evaild Senaumaueraihyer agy FRwimeng?

(A xtax+l=0
(B} x2*—-x+1=0
Ty xF+x-1=0

S D) xf-x-1=0



o

(A)

(C)

3
6=
10
i

4

Ny % wiiE ] --%s'rr EC LT aTE

o

(B}

=

S

Wil- =



8.

80.

The value of \‘2434—1'521-9‘144 ia
CA) 14
(c; 18

{248+ 52+ ¥121 e wPOTenS
A 14
) 18

- Find the missing humber
3251 + 58T + 569 — 7 = 3007
Ay 1256
€ 1375
Bﬂ{:HIUI.-_‘I_ GTERTCOIHNT & S ©
3251 + 687 + 369 = 7 = 3007
(A) ~ 1250

© 1375

o 15

(D)} 26
(By 18
26

.(B} 1300

v 1200

(B) 1300

@) 1200

Which one of the following shows the highest percentage?

R 384
(A) i
540

’ 570

(C) iy
700

WSleeupeuaTeunm ar eTg o wiihs 555507

384
(ay ==
540
570
© 3
(00

V4

(D

(B)

(D)

425
500
480
660

125
500
480

660



Evaluate : (256)"'° x(16)"' =2

/ 4 (B) 16

(C) 64
(D) 256.25

WAy sraws - (256)°1° x (16)*'* =2

(A) 4
© (B) 16
(C) 64 '
) (D) 256.25



58. 1 1| 1 1 _9
(B) 5

1+
@ 1
(C) 9 (D) 10
1 1 1 1 s
+ + +oen =78
1+42) (V2++43) (f3+41) V99 + 100
A 1 B) 5
9 D) 10

5, m3 '
_.__._légi 4';'1 —= 20 then the value of x is

“w o6 B) 20
ool (D) 42
A E L .
L 9pgafie x-
169+ 49 0 oee x-anogunnerg)
&) 6 C(B) 20
D) 42

iy 91



2.

If V3 =1.732 and V2 =1.414 , then the value of

3+42

(A) 0.064 . (B) 0.308

7 0318 D) 2.146

1

V3 =1.732 whpd V2 =1.414 aafié —én 0
L) J§+J§ oy

(A) 0.064 B) 0.308

(© 0318 D) 2.146

18



49.

Which 1s true for the statements?

(a)

(b)
(c)
(d)

R

(B)
(©)
(D)

The degree of the polynomial is the highest (non-negative integer) power of the
variable involved in the term

The G.C.D of co-prime factors is 1
The LCM of ab, be,ca is abe

1 is the prime number

(a), (b), (c) only
(a), (b), (d) only

(b), {c), (d) only
all

v

Qeteu (b s pmiseile arg sflureang?

(a)

(b)
(c)
@
@)
®)

(©
D)

e LOIDUILE Carmande LIGWTEg. SiFa 2 pULsD HMDbS mnﬁluSlen WeU@ufiu
GNDGUDD (P(YSSET cTeim

aniry uar srresflsafian 8. Gur.e 1 D@D

”

ab, be,ca aénm Caneneuulien 8. Qumw abe 2,@H

1 yeng) L& eremt

(a), (b), (¢) LLB®

(a), (b), (d) LLEG
(b), (¢). (d) i B

&mwﬁym



: i ) 25 X
45. Find the value of x in the equation /1 + 5T, =1+ =

12
#) x=0  x-1
©) x=2 D)y x=3
J1+—2—g =1+ = qam swammigé X -6 gl smeir
144 12
@ x=0 ® x-=1
C =x=2 D) x=3

96. 2% = 4**? then find the value of x

(A) X = 13 (B) e 10
M x=9 D x=7
21 = 4**2 grafléo x -a wH Uiy smeir

A x=13 B) x=10
© x=9 D) x=7

97. IfA=l+é+i+§andB=1+§thenBexceedsAby
«(fg | ® 3
© 3 ® 7
A=1+ é + % +% Cwgub B =1 +% raflar B-wrengy A -mé snlgab aréicuarey gl ?
@) 1—‘6- ® 3
© 1 o 3



18. If a and b are two non-zero rational numbers and g—% = a + bv/3, then the value of b is

®)
©

(D)

0w & = &

a whpw b dwen FmUFULHD sﬂﬂw@ TGRS LDHOILD %Jg = a + bV3 aaflé b-ar iy

ST 5.
(A)
(B)
©
D)

@ D = e



.-. - ’ I4 _ xz:rrz J:E .
687, Simplify : [—] - [_..._ .
, ¥~ alyt I

AL N

1 o @
M -1 | . Dy

1 , . x — xty® | £

rosor (5=55)-(5) |
Ay 1 (B) 0

Hd| Hb\.‘r



22.

Simplify [M+ JM_“] _[.ﬁfé] +2,

V144 Vs _
' 21 - - ) 21
Ay =— =1
@A) 8 . . (E} 12
© = . R s
-4 . . ) &
L E-'[ 900 + 144}—[m]+2
OGO T an Fry R
21 . . . 21
A = : =1
weos - Bg
21 S ' 21
()} iR ‘ o (F’l g

+
-

. . . . R .1.1}{.:
If 4 denotes », A denotes +, C denotes. + and ) denotes —, then find the walue of
25042C68B10A5

(A —52 ' '{h} - 65

© s V768

A geng x g Ghédog. B was + g Edsdps, Cams + @ efsdng oppo D s -'g
miladng aaflés 25042C6 BI0AS an ingliys srams

(A) =52 _ ' (B) -68

© 52 . (D) 68

If + means x, — means +, x means + and + means — then the value of 6 -9+8x3+20 is
10 (B) 6
() -2 (D) 12

|+ GTemLgy X, — GTeéugy +, X GTeLg + WwHmD + eranug— erafli 6-9 + 8x3 + 20 —ullar oy
(A) 10 (B) 6
oo -2 (D) 12



Which of the following is/are true

(1) (-2,-7) is a point in IV quadrant

(2) (0, 3) is a point on X axis

(3 (-5,2) lies to the left of Y axis

(4)  (5,2) and (-7, 2) are the points on the line parallel to Y axis
(A)  (2),3) (3) only

© 2,39 D @),

Wletreu meueteup e ergl/ crencu Gwwinar sapm?

()  (-2,-7) erawmugy IV srpugdeows Gaipg Leref

(2) (0, 3) eremugy X si5élan Bgenops Lyeref

3 (-5, 2) aaug Y sédlbe @LUUDh Senwnhs Leref

@ (5,2) wpgd (-7, 2) wbuar Y 258peE Qeaarnurer Can_qoamwbs Laraissr
A 2,3 (B)  (3) wlHd

© (2,6), D) 1), (2

Find the value of 729 - V21
512 + Y343

5 3

® 3 ® 2
)

© 2 g &

R

Vois s Va5 0 R el

(A) g (B) g
5 2

(©) § ™ Z



67.

x*-25 (x+5)?

Simplify Sy Roe: -
(Aﬁ (x=5)(x+3)
(x-3)
(x+3)

i x*-25 (x+5)°
ol ke T o
(x-5)(x+3)

@ (x-3)
(x+5)(x-3)
© (x+3)

Simplify %-{G+§] _%}

168
125

\M =
168

&)

G (hH& 53_ (.l.pg)_é
G*&E 7 1\273) 6

168

A e
) 125

: . 125
©) 168

D)

®)

D)

(B)

(D)

(B)

D)

(x+8)(x+3)

(x -5)

(x - 5)(x - 3)

(x+5)

(x+5)(x+3)

(x-5)

125
160

160
125

125

- 160

160
125



166.

167.

168.

Simplhify the following:

(A) x*-2x+4 \M x°+2x 44

(C) =x*-2x-4 Dy x*
¢ 8
&(HHEHS | = & e
(A) e~ 2x+4 (B) x*+2x+4
(C) x*-2x-4 (D) x*-
L U T SR
m+1 m+1 m°-1
2 —
A m® (B) peesh
m
1 m?
0 — \9{
© m* - m® -1
R m " 1 % 1
N 1 m+l m? -1
, g
(A) m* (B) m -1
; m
@ T 2

m* m* -1

If 3a +4b =22, 8a - 5b = —4, then the value of (a+b)* =?

36 (B) 72
© 25 (D) 49

3a +4b =22, 8a-5b =4, aafle (a +b)* e wHOY wrg?

(A) 36 (B) 72
(Cy 25 - (D) 49




a’ b?

143, Simpli
‘ Mgty a—b+b—a

w a® +ab+b?

B) a*-ab+b?

€ " a®+b°
(D) a®-#*

. a’ b*
Al o a—b * b-a

(A) a®+ab+b?
(B) a®-ab+b? \
© aebt
D) a®-b






11.

Find the value of

1 1 1 1

Ay 0

© 1

1
Vo8B VBT VT6 V65 51

(B)

e

S0 | -

. : 1
iy smasr e
A 0

© 1

1 1 1
Y Y - - S N 7§

(B)

(53] wl_.

1)



55.

If 2° =32 then find value of x.

(A) 5 (B) 3
© 35 T
2* =32 aaflés x -air Uiy srain. -

A 5 B) 3
(C)y 3/ (D) 5/3



28, Ifa+b+c=13 a®+b® +c® =69, then find ab +be +ca

(A) -50 W 50

) 69 ‘ D) 75

a+b+c=13 wimd a® +b® +c* =69 aafla ab+be+ca snar
(A -50 (B) 50
() 69 (D) 75

34.  If 44096 =64, then the value of y4096 +/40.96 +v0.004096 is
(A) 70.4 70.464
(€©) 7104 (D) 714

V4096 = 64, crafles Y4096 ++/40.96 +/0.004096 -Gew whiiy
(&)  70.4 (B) 70.464
© 7104 D) 714

1 3 1 )
1T: If (2 +—)=4, the value of [p + ———} 1S
P p 8p°

(a4 va?(s

(C) 8 (D) 15

(Zp + l] =4 craﬂcb[ps - L&\ -a gy
p 8p° )

A4 4 B) 5
C 8 D) 15



(9.8)° - (6.8)°

Smis: (9.8)°+9.8x6.8+(6.8)"

A o0

€ 2

S 2(9.8)'1 -(6.8)° :
(9.8)° +9.8x 6.8 +(6.8)

A 0

© 2

B 1

B) 1

D) 3



B8, !fizﬁ,thcvalueofx_y+l‘£is
2y 7 x+y 19
13
A —
(A) 1
NC g
2_2-:% eraléd ﬁ:j‘,+%-c&m£uq ST T 5.
13
Al 29
(A) 5
(C) 1

(B)

(D)

(B)

(D)

15
19

19 -

15
19

19












128  Simplify

(3]

o~
"
<

)

Tl 8% o B
'];_I’EIH?“'-F]*’E"[&'"*?I




2 -3
184.  Simplify : 8] x(22)

(24 )'2 x3~‘ x 4—2

2

©) 63

) =)

HHEEGS (2‘) BN
1

(A) 75
2

(C) 6§

(B)

@)

(B)

D)

-

Qo | =

®wlw &)~






43.

64.

66.

(0.85% of 405) + (2.25% of 550) = ?
(A) 13.8175

% 15.8175

(C) 14.8175
(D) 15.7150

(405 @é 0.85%) + (550 @)eb 2.25%) = ?

(A) 13.8175
(B) 15.8175
() 14.8175
(D) 15.7150
If £=i, then the value of 1‘-+ Zy—% 18
y b5 7 2y+x
3
A i
(A) 7
© 1=
7
x 4 . [4 2y-x) .
Zam aahd | = A
P ar m[7+2y+xjmm,ﬂuq
3
A =
(A) 7
' 1
C 1—
(&) -
Simplify
£ 52
x' -y Tt —y
A x+y
C .
H(HEGSE :
o2 - 52
-y Xy
A X+y
© S

D)

(B)

(D)
















Thevalueuf 6+6+6+6)+6
4+4+4+44+4

@ 1 | o® %
\/ %3 o @) 33

(6+E+E+m
4+4+4+4.4

iy smear

@ 1 O ® Y
© A | o 3>
13 13

48

S 99— 245
implify 49x

v( 24495 | (B) 24899

(C) 24485 (D) 24895
_;@qumigxmm

(A) 24495 . ' (B) 24899

(C) 24485 . (D) 24895



111. ab

If.a--_':l = oy find the value of 3+(3*-1)

V" -3 - B) -15

-

[C}. -1 D) 2/3
ab - ' |
a*b= m,aﬁﬂdﬁ d«(3*«-an m@ﬂq.amﬁm.
@4 -3 (B) 2
© -1 . D) 2/3
_ Y729 -3/27
5.  TFind the value of :
| n e value O m
o5 ' B 37
© 6 D) 5/2
_._—..W —an S| Seir
512 + /343
@A) 25 . ® a3
O 64 D) 5/2

52, Find the value of [4.9}2
(A) 24.81 | @ 2409

(€) 20,01 . . \W 24.01

(4.9 —an Iy Emeir

(A 24,
o B
. : D)y 240

54 Find the value of (256)"*
P o 1
(D) 1032

(256)""* —én w A1 sne
(A) 512 | (B) 984
(C) 1024 ' (D) "1032




' (x-3P +(r-2+-2° .
94, L l
4 The value of 9(x — vy - 21z —-x) | °

@ | . ®
ME | . - (D)

(x-*+ -2 +z-n°
C9(x— Py —2)(z - x)

[Eger dlliLimeng)

. 1 ' ,
(A) 1 _ S (B
.1 o
| (©) 3 (D
E!;i'. What comes next? |

(@ +1), @+ 1)t + 1)
e (@ + 1% +1f
@1y +1)ﬂ 12
\@" ({-:z +1)? +1)2 +1]
@2+ 2 1))
ét@&@'m@ma eréinen?
a,(a®+1), ((@® +1)* +1):--
@. (@11}
® (o +1)+ 1]“;]3
[{a 1 1f + 1]

({(ag + 1}'“' + 1]+ 1)

|-



48, IFH%—4%+2.S+£ 2,32 = 5.98 then the value of  is
x -
{Ay 40 _ ' B4
{Cy 5 - oy &0
11 PR o
B——d—+284+—-232 =533 raflds ¥ -smwdlmang
1 i x
Ay 40 SRR 1 B
s : - @)y 50 -
56‘ ELN: |
Simplify @-_
p].'l.r.}' . {32}2
64 : o :
) — . 4
. &1 ) ) _ (B) 9
w2 - 2

(B)

oy

B by wfes

62.  When x =25, the value of (52 +10x)+(x+2) is_

1 B) 175

. G 2z D) 250
x=25 aafld (5 +10x)+ (x + 2)—ar whiiumengy

(4) 125 ' L@ 175

(© =225 _ (D) 250



9 3 /3 3)

a2, 8

85 [4+5J
11

A 11

(A) 1la B 1{%

@ i 1
18 : T

T - ) '

._fp 1 | S 1_%
ooy (28 | | 7
R TS T

. Emph—ﬁ' . lqg._-Hlﬂg; 100

@ 1 ) S ® L

wr o2 | -2

. : L
s@Ees : logs d+logy o0

A 1 ' : . {B} -1
© -2 _ . | @Dy 2
. | p : x'+4x’ +lﬁ
,  x+2 | -2
. \Jﬁf’ x* +2x+4 | - @ x4 2244
x+2 _ %2
R | P T
L 2 :8
SO T d 416
x+2 - x-2
Fead - ® wen
© I LT o ES

%% —2x4 4 o xF-2x44



8.

69,

. ®

157.

(D)

I tanE'aE, then the value of
¥ _ at+x

W cos 8

cogec &

(C)

tan&=%¢rﬂﬂda = - & By

a’+x
cos &

(A)
©

cosec &

Simplify the following :
(lju +(E4}_?1 +'{32}% —{32}:5'i
64 _ |
W 18
B 154

W 174

® 194

Hm@ajmmﬂmm& SHEGS
=4
9y 5

1Y -
[E] +(ﬁ4}2 +[32]5 (32)

& 13L
154

17
194

(€

If P=- ad B = thenwhat:sthevaluenf
X

I+:f'

= is equal to

gin &

®)
)

sec &

B) sin &

(D

g
(D)

2¢

P:I ad ,Q:_ :!" ﬂﬂﬂﬂ} 1

P_Q_PE _-_-QZ

(B)
(D)

sec @

1 2Q

P-Q P-@

E A

i iy eremen?

1

x-¥



158. Simplify the following:
log, ¥ 5x+1~%=1aga~fx+1

@ o . @

© = -_ : _ > 3

FOHES .

@w o ® 1
© 2 - D 3

. ) % uf%uf % of x =-'1'5'.ﬁn_d i

L L©@o 50 L D) 250
o x@@ g-@wgﬁw§=15-€rﬂﬂﬂ;‘xmﬂgﬁ .
(A) 350 - | | ©(B) 450 |
@) 850 (D) 2500 v
- ,‘x.xﬁ : L : | (B}

B SRR Y

k] " ’
@ie ieakbe .
. . . -

a@&@;
@)

-]

Sy A

i



28in30°  3secld® cotl5®

118. Simplify: ;

: lmph.f? c0s60° cosec80° " tan75° :
@ 0 @7 6
€ 3 : D) 4

 2sin30° | 3secl0°  cotls?

BHEGS

" c0s60°  cosecB0°  tanT5°
@ o B) 6
© 3 D 4

167. sin30° sin45° and sin90° are in what ratio?

W 1:42:2

B 1:2:3
© J2:2:3
@O 1:2:2/2

-

. 8in30° sin45° wpmb sin90° e apg BflssHd edraan?

_ (A) 1:42:2 - ' .
T ® 1:2:3 '
© J2:2:3

M) 1:2:2/2



168 11 Jfx - lﬁ=_49:x3’2', what is the value of ©?
B 49 |
® 16

L © o :
W s

x:16=49:2%% areflés x e By erenen?

._ @ 49
B 16
) 64
(D) 28.

% -3x-10 x*-9x+4

93.  Simplify ¥ -%-20 218

@  xra - N4

1
© .ox+2
x*-3x=10 x*-2x+4
x
x*—x-20 x* +8
&) x+4
1
(©)

x+2

D)

x+4d

x4 2




97.

98,

B8,

The value of {-_5} (4)2) [:él] E]
@ 1 Y&t

© 12 ' @ o

(@@ (3] wosou

(4 10 : ®) 15
€ 12 - @ o

If 4x 45y =83 and EE_.;E then y-x=7 .~

2y 22
o ® 3
© 6 - @) 2
dx + 5y =83 'm;ipm;;& 3%:%\“*"“ ,_.,;_=_?
(A 4 S o : ) {g}

€ 6 ' | o (D)

-2 __-
The value of (%) '—SQB% x4° +(1J % is

16
1 1.
M 53 R B) 53
1 i : 1
c 6 5 : © 75
- 2 . @ R
[%] ' —3!8% nl4"‘ +(%) % ~ &t iy
" 1 | 1
(A) 55 | O ® 55
1 . |
(© EE (D) TE_

If 2x + 3y =13 and y = 6 then the value of 8x® + E'J'f is
x

(A) 693 & 793

(C) 893 @ o
2% +3y =13 whgd y = > crafld 8x* + 275" -dr oy
X

(A) 693. : {Bj 703
© 893 S @ o



151. Simplt&rtﬁ-?pﬁ-—@-hsﬁﬁ
@) V2+43 o B V2-43
{C) _—5& +3 - w none of these

(8 @-Sﬁ—ﬁf&w‘l—ﬂ

&) 2+ B) +2-43"
© 42443 ' D) Gapdé gepddme -

2 2¢ 3] [3 4 '
164. If[x 1}+[ ]=[ T],thevaluesufxm

2 3/ |1 4 |
@ 23 | B) 2,-3
© 3-1 WP -31
x2 1] [2¢ 3] [3 4 o
IR e
A 2,3 ' _ B) 2,-3
© 3-1 M -3,1 -
. 2+-:-;—E
35 If +=x,thenthav§]ﬁnofxis _
' 2+ I :
3 —
1+—
1 o ' 3
(A}_ Z (B) o
8
“r 1 o o

— 3 -y aafa, x ar wHl wrg?

1 -

®)

“aje 1w

© 1 - S 5]



83. lf'ﬁ_l+ﬁ+1 =a+l 7 find the values of @ and &
ET+1 -1 w_

=3

Lo ]
=

- _5 5o,
(A) L‘iuﬁ.b—a B) a S,b

8 b
'JG_E’ b_n . (D} 'l?:_ﬂ: b_"a"

-

V-1 " 141 =a+ b7 aafl® a. b-Wen LY EDer STETS

NT+1 f7-1 .
8 5
@ a=0 b-7 | B) a=_, b=0
(0 a=2 b-0 My a=0 p-2
3’ . ’ 3

85. If J/2116 = 46 then the value of ¥21.16 + +0.2116 ++/0.002116
< 5106 (B) 5.116

{C) b5.122 (D) 5.221

V2116 = 46 arafid y21.16 +/0.2116 + YO 002116 -wleir iy

(A)  5.106 . B 5.116

(€ 5.122 @ 5.221
87 129 - 27 =7

@ 9 ® 7

Wﬁ_ ¢ ) S 81

Y729 - Y21 =2
@ s o® T
© 6 . ' | M 11



2
109. Thevaluenfi-'_—z—xhxax+ﬁ

212z x-2
Ay 3x
s
© 3x+2
D) x-2
.:::z*a:rzaém@m‘
@ s
(B) _3.
© 3x+2
@ x-2

111. 4% .9-16:+x . What is the value of x ?

(A +16
(B) =3
C) +4

o +12

x¥? :Qulﬁz-\f;cmﬂd} x:sirlmaﬁﬂq aTamen?

(A) 16
B) =3
(C) +4

D) 12



® - 4
©  xmm ,
®

e A AN
ST f
@ 1
® -

D =

165. If A=+, B=+, C=x and D'=- then what is the value of %CEB%A%D%:?

W 21

(B) 12
© 25
® 16

A  aeéwugmen + crameyd, B eemugean <+  eaeteyd, C  adgomer X ererayb,

D régeoen — aranap Qe %62 B%A%Lj% =9

@ 21 )
® 12

© 25

® 18



-1 2ixel
=+ =

166. Th_e value of : ?

x+3  B8x+9
@ -1
(B) 3(x+1)
el 3(x-1)
D) 3x+2

3 2
x'-1 x"+x+1 . .
£+3 3x+9 o Logly

(A 38x-1
B)  3(x+1)
© 3(x-1)
(D) 3x+2

29. Simplify : (1%:(31]—[42 + E]

7 8 .5 :
"(‘-‘3—22_ @ 4Z
© 43 | @ 42 |
(o g)
@ 432%' o ® 43
© 4%3-1- - - 4_3%

30. &he'values of (a +b) and (a —b) are 7T and 4 respectively. Then ab is

w = | | ) . ® %
(@+b) m@;&: (a-b) e oL oepCerT oppu 4 srafl> ab -8 iy
w 2 ® 2
© = o 2



5. 129% -29% =*

(A) _ 12000 _ (B) 15000
o 15800 (D) 10000
129° - 297 = 7
(A) 12000 C(B) 15000
(Cy 15800 (D) 10000
52. _x . % _,
x-1 x*-1 .
x x+1
A . .
W = | o :
© 1 o =
x - x+1
x_ x* iy
x—-1 =z=*-1
x x+1
(A) —) (B) -
© *= : ® =

x x+1

F (6+6+6+6)+6

35.  The val
' ¢ valueo d+d+d+d =4

15 equal to

4 o 3
© % ® 1
i anogi

@ = ® =
o 2 ® 1

37, The value of 25 -5[2+3{2-2 (5-3) +5} -10] +4 is
A 4 - (B) 24.25
d\zmﬁ _ @ 30
25-5(2+3{2-2(5-3)+5} —10] +4 -én i
@ 4 - - e ® 2495
(C) 2375 : (D) 30



. -2\ x=2 '
135.  Solution nf[ ] +3:4[ cx -2 is
x+2 x+2 .

Ay x=1x=3

B) x=3
x=-4
D) x=1

2
(x—ﬂ) +3= 4[:‘:—_2}1:# —2 eranm SwarUm e Siay
. _ x+2 ' :

B) x=38
€ x=-4
D x=1

154 Find the valne of [-343>< 343 % 343-113x113x 11:3)

343343 +343x113+113x113

..'mf;f 230
(B) 330
430
©) 530

(343x343x343;113x113x113

: : _ J et whllenud srer
343x343+343x113+113x113 ' :

(A) 230
®) 330
(©) 430

@) 530



195, Find the value of \EH— Vale421+416

@ 5 ® 6
\fn/? | | ) 8

1,||[43 + JE # Y21+ 16 -en Lol ) gy P

(A) 5 By 6

{{j} 7 ' Dy 8

125. If a and § are the roots of the equation 3x* —6x+4¥ﬂ, find the value of %+E
: _ o

(A) 2

® -1

® 3

3x® —6x + 4 =0 aehnp swenun e Sraysdr @, B e, %4-3@1.»@.:"_.«“@5

. . [#3

@ 2

B -1

© 1

@D 3

173.  Find the value of (1-1/3) (1-1/4) (1 - 1,!51,..{1 -1/100)

- 1
(A) 100 | . (B) 25
1
= ®) 100

(1-1/3) (1 -1/4) (1 1/5)...(1 - 1/100) & ol ené smair

1 1
(A) 'Too - | (F} o5

(€ (D) 100

1
50



175. What is the value of 3+ 4[4 {13 4(7+2)+6}+9]?

(A) 231
(B) 213
e 123
D) 132

3+ 4[4~ {13~ 4(7 +2) + 6} + 9] én ALY wrg?

(A) 231
(B) 213
(Cy 123
Dy 132

1.  The value of (23 + 56)° — (23 - 56)"

23xb3
A 2 ' By 3
oo oo
" {23+Eﬁ)’—{23—ﬁﬁ)"ﬁmﬁau
23x 563 .
A 2 , ® 3
© 4 | ' D

43.  If an operation © is defined as follows a ® b = Ya® +b? where a,be N . Then the value of
(304905 : : - :

@ 2z - @52
© =5 ). 565
| @ erenp Qewdflwrang a® b=+a+b aaaanupssiu@dpg. o, be N aafli(3@4)0 5én
Wiy . .
@ 22 B 52

© 245 | D@ 55



3
A 4— , ® —

1 1
_+.._=‘J
ol 43
3 4
1 x
Ay 45 ® o
12 O 1
) m
88. Thevalueof 1+ 11 is equal to
1+ ——
l+-l
g9
.29 i 10
(A) 19 (B) Y
19 10
© & o3
S+ g
1 1
+
l+l
9
imﬁ 20 10
19 (_]3} 19
19 10
(C) 29 . 1) 3

39 17.23 +? _ 2

3.6x0.2

(A) 120 (B)  1.20
@ 12 . @) 0.12
17.2847 _,

36x0.2 .

(A) 120 B) 1.20

© 12 D 0.12



- 38 52 _38 o1
6§ 9
1 17
LA} 12 - 18
13 9
0. == -
© AT
5 .8
ﬁ—-— —.-?=
5573 t _
un 17
@ 3 | ® i
© 13 : D) 2

6 | 10

90.  7500+(1250+50)="7

(&) 180 | ﬂ’ 7525

(O 5720 (D) 3200
7500+ (1250 ;_sp} =?
(A) 180 . (B) 7525

© 5720 (D) 3200

128. If p(x) = 7¢® - 52% + 3x - 9, then what is the sum of p(~1) and p(2).

. (AJ 33 .
® -2
© -8
W 5
plx) = 7% —Bx* + 9x - 9 salid> pl-1) wigid p(2) Peupdlen smGped ceimen?
@ 83 |
B) -24
©- -9

o 9



179. The value of x satisfying v5+ ¥x =3 is

a7.

52

A 6

® 27
L © 8
® 24

5+ ¥x =3 el x ﬁﬂmmﬁmuimﬁm '

W) 64

® 27

© 8

@) 24 '

If a® +b% =45 and ab =18 find %4.%
1
/ £3 ®
(C) +1 . m
4

a® +b =45 whgud ab =18 aafia :1'~+-:; SRS

1
(V] s By
1
(0} T ™
Simplify :

V729 - V27 + ¥i6__
Y512 + V343 - 4256

11
(&) 1o
9
(C) 10
&HHEGS :

Y720 -327+%16 _
512 + 4343 - 4256
11
(&) 0
9
10

©

+1

[T

+1.

(I

B

(D)

10

11
12
11

10
11
12
11



: . . x+4 3x+9
; Simplify - +
56 P -1 x*+x+1

(A) — o 3 (B) B8x+1
_ 3x+1 -
© 3x-3 | v _1_—3
i x+3 . 3x+ 9
O T el
- . 1 .
(A) 22 i1 (B) 33:1-1
. ‘ 1
© 31'3‘ . . : @ 3x -3
58.  Simplify : (1350 «15-5) + (47.5 - 15x 2.5)
(&) 85 _ (B) 10.5
© 10 ' 85
s ¢ (1850 + 15— 5) = (47.5 - 15X 2.5)
(A) 85 - (B) 105
o 1w (D} 85 .
63. . Value of \’E.JE,JE.-JH.'... |
o 3 . ® nfinity

(© o - B @) 3

Ja.ﬁfs.«.fasﬁ: am;ﬂau

(A) 3 | B apaelisd
© o (D) 3



won é[2x1+ ) 7{3;:1? 2y) % and zxiay M 3;2;«
respectively.
we’ 2.1
By 1,2
Q) -1,-2
™ -2,1
1 + 12 -le:gl.i:- 7 + 4 —= 2
22x+3y) 3x-2y) 2 2x+3y 3x-2%
A 21 |
® 1,2
(e -1,-2
M -2,1
153, If 1*+2°+2° =%

223246 =T

3% + 4% +12%-=13°
then 6%+7°+42°=7
(Ay  45°

w

P42t 42t =8
243t 467 =T

37+ 47 +12° =18? sraflé
67+ 7% +42° =7

VI L

€y 43

166. The value of +/0.015625 is

(A) 005
& o5
#0.016626 &r 0By
@) 005 |
© 05

®
)

(B)
(D)

49°
4%

49*
42°

(B
(I

(B)
()

=§ then values of x and y are

eredfley, X, ¥ - ﬁirmﬁﬂq-ﬁa’.r@mm%

0.25
2.5

0.25
2.5



e2x+1 —T<x<-5

172, A function f:.[—'?,E]::R is defined as follows f(x)={ =x+5 ~B<x=2 what is the
' : - Cx-1 2ex<b :
- 4f(-3)-2f(4), '
vﬂuenf%_—ﬁﬁﬁi
2 7
@ 7 | ®
o ' 1
o 2 ™ 2
_ 2 42x+1 -Tsx<-5
smiy f:-T.8)= R Spisem_cumy suspnugdEs (e flx)=1 =x+5 -5sx=2
: x-1 - 2<x<6
o 4f=3)-2f[4) . oo
ﬂﬂﬂwﬁ—_ﬁmﬂ(ie ﬂTu)ﬂ LJET-G!TGIT‘?
2 . 7
. A) 7 _ B 3
' 1
e 2 (D) 2
130. Simplify:
1 1
—— =
10 10
W& 001 : _ ‘ (B) 0.001
(C) - 0.0001 (D) 01
(S -
1 1
—_——
10 10
4 001 (B) 0.001

(C)  0.0001 D o1



131.

Reciprocal of ‘—; is

9

(A) 7

vy 22

T

-7

©@ 3

.

(D) 9

7

Tﬁgmmﬁtﬂ

g

(A) 7

-9

B -

g

© 3

2

) 3

133. What should be added to 16 te get —31?

(&)
©

15

47

(B)

W

16 L& eTfhg eremencamd s g anirdd — 51 Len_&@Eh?

(A)
()

15
47

(B)
(D}

47



184. Simplify [I%xal].—[-i?_%.s_‘q‘_] =

7)7 "8 %5
@ 1%

®) 23—23

o &

D) 3%

W[ -2-;(3%]-[4%5%] -
A) 1%

®) 2%%

© 12
o 82

32



189, - Simplify :

(A

e | &

(B)

(=9

- T Y-S

D)

5° 24

coige: 2T 0257

(A)

#= b |en

®)
<

(= Y N

@)

.l - . r . ) 1 B _2 ) ]
191. Bimphf}'.[[[gj] ] =%
Vo
16
® 16
© =

m -6

(B) 16
© =

(m  -16



52,

86.

Simplify : 3128 <464 .

@ i ' o® B

© .46 - o e

sasEs: Y128 64 .

@ Y ® 1B
© % ' ) 2
Simplify :
1 3 .8
EE-'-EDEE
w7 : ® 2
: 9
37 - 16
F 5 : K ™ 3
SIS
13 .8
a§+zﬁlﬁﬂa |
@w 7 L ® =
¥ 9 -
. 37 : : .o 16
o =L Dy =
© 6 . W 15
coa B oo, C D P
IfE-E—C,.B.E—B,zLB Cthenlrz—.
- B [
(A) T (B) E.
D y 2
© & ME
B .., C . ., . D -
2"3—6,3—2—Bm9}gﬂm4-3—cejrm"ﬂml-ﬁ—-
B ' c
(A) e EB) B
D A
(C) ol (D} B



89. - J784 +7="78% of 500

263 - @ 236

(A)
7 62 . (D) 632

© 784 +7= 500 G 78%
) 283 : : (B) 2386
© . 362 . @) 682

138. 3 — 25 here, which of the following number is suitable in —, so that the number will be a
perfect square? '

A 1 B~ 0
(0 . [ ; D) 6

3 - 25 gremp eresmenflay — @O L @SB aris erawm CumL UL L a6 Sig (P uiGsD HEG0D?
@ .1 ® 0
c 4 (D) 86



© 144, If 3(1-3)=5(2¢t+1) then t=7

vl -2

Bz
()" -3
(3

3{t—-3)=5(2t+1) eraflés t =7

) -2
8y 2
e 3

I 3



i ' 1.75%1.75+2x1,75x0.75 +0.75x 0. 75
145. The value of = o 5 - 0.76x0.75

(A) 3.5
(B) 6.25
© 1

T 25

1.76x1. 76+ 2x1.76x0.75+0.75=0.95

1.75 xl.?ﬁ—ﬂ.?ﬁxﬂ.?-ﬁ dﬂmﬁﬁ"—l
(A) 35
(B) 6.25
© 1
o 25

146. The value of 16%+79-23% is

& -T728

(B) - TO28
(Cy 7728
(D) -7718

16" + 7% - 23" ér il

(A) -T728
(B) 17028
(C) 7728

Dy =7718



i -4 dx 5
191. If (%] x[%] =[{§] ; then the value of x is
A -1 -
® 1
© 2

BT 3

(i — x 7 EE 7 5 . !
12 i =(E] grafld x-am iy
@ -1 |

(B)

cy 2
oy 3



@
35.

180x15-12x20 ,
140 x 8+ 2x55

o 2

180 x 15 =12 ><20=.,
140 % 8+ 2x55 '

1
(A) s

(c) z

36.

The value of 1+
1+

@ 2y
P

1+
1+= 11
1+
1+ a
@ 2y,
© %)

14 1 e wdiy

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

D |

U=

7

%



39, The va_lu«e of 5005 — 5000 + 10 is
(A 5000 (B) 4965

P 4505 | @) 4500

5005 — 5000 + 10 e 1oy

(A) 5000 . (B) 4965
(C) 4505 _ (D) 4500
JSOGS16 16
87. .Tha value of 999 %g%x 999 is
/993996 | (B) 99999
999 ' D) 5997
H%Exﬂﬂﬂ-ﬁmﬂuq
(A) 998996 (B) 99999
© 999 ' ©) 5997
89. 111
S =7
lf3+2+x 4 then x =" |
6 ' 8 12 9
(A) T (B) T (© 17 (D) o
111
— e i i =7
:_]\+2+:‘T 4 greflér x =7
6 8 12 : g
I (B) 5 (C) el D) 10
ﬁﬁ. If.i-»_E--E &nﬂi+g=§§ then, what is the value of x —y? (Here x:#p and y#=0)
x y xy x ¥y x _
-3 @®) -33

A)
ue{ 33 : ® 3

4 6 18 4 9 63 . . L |
—_—f—=—, —+—='—“m. x=y- LI W, ?{ e x*ul'hjm'h’#u}
iy BTy Ty b1 oo wrp? (e = |

@ -5 ® -3
© 33 " M) 3



" If 48 =144 and 6+9 = 225, then what is the value of 7+10?

@ 256 | @ 289

(© 170 . ' @) 17

4+8=144 wppb 6+9 =225 aafid T+10 - Ger wHiy wrg?

(A 266 N '- B) 289

) 170 Dy 17

e Cxtextal

Simplify in lowest form: 3 e el

A =x+x+1 | um/x’—xwl

© x*-2x+1 - (D) x*-2x-1
w6 +x‘+:=+l

U 5_! P rx+l .

(A) x+x+1 ' ® x*-x+1

© =*-2x+1 D) =z%-2x-1

'Find the value of 1+—

1
1.+ - i
: . . 9 .
(A  10/9 . . ®) 29/10
| 29
(C©) 19/9 | @) o
1+ —L— - @ wfiiicouis s,
1+
1+ 1
9
@ 109 V& 29019

© 19/ - ® =



148 Ifa+b=7 and a-b=4 then find the value of ab.

55 ' . 65
(A) T ’ (B) '2—

33
w3 . o

a+b=T, a-b=4 aafid ab Ger v srans.

55 : 65
(4) T . - (B) ?

mg . _
© - | | D 1

150. If—=—then,ﬁndthwa1muf‘+f
x* -y

w %o WY
© -5 | ® -19/
§=% ﬂm:zﬂ" —@d\'mﬂumuam

Lﬁ)-%. ® -

© -% R ® -19

153. If — means +, + means x,+ means -, x means +, then which of the following equation is

correct?
u&f 52+4+5x8-2=36 (B) 43xT+5+4+8=25

36-4+12+5x3=430 "~ (D) 36-12x6+3+4=60

~ erélug +wb, + ey :;:u;ith. + 'nﬁuy1—'u.u.'n, x eaug +ub ghisre ECyp
Qarpéstu Pereremade 6T FOSTLINE 2T ST 2 ML ?

(&) 52+4+5x8-2=36 (B) 43xT+5+4+8=25

(C) 36-4+12+5x3=430 _ D) 36-12x6+3+4=60



15

156. Evaluate: ' — e
) 31(1 +:"2ﬂl +J4{I -35—390

@w o6 s o4

© -0 ® &0
o 15 |

B0 e T30+ V0 - 5 —Ja0 |

@ 10-45 | : ® 10445

© JB-4J10 O 510

130.  If ax® +bx+c=0 has equal roots then c is equal to

b

@ o
o 2
4a

—b

(C) e
b

O

ax® +bx+c=0 aenp E@UigF swenuM iy e Sieysdr slow arafld c-6r ALY aenean?

bt
@D 2

bB
®

_53
O
o =



131. ... xt-95 x+5
Dividin b
B3 Y -9

(A)  (x-5)(x+3)

is equal to

B) (x+5)(x-3)
{(x+5) (x+3)

@f (x-5) (x-3)

2 -25

srenny Cameneusnil L'; o) euEss SenL LiLg wWmgE?

@) (x-5)(x+3)
(B) {x+5}(x—3}.
(C)  (x+5) (x+3)
D) . (x-5)(x-3)

136. ax+by+e =0 and a,x+b,y+¢; =0 when these two lines are parallel?
M&:ﬁ
a b
B)  oao;+bb=0

© ab+ab=0
@)  ab+ab =0

ax+by+c =0 oppb ax+by+c, =0 adp Carpas sQuIs Geamuns BHEGD?

a_ b
@ Z=g
®) oy +bby =0
©  ab+ah=0

M  agbtab =0



140. I Y24-10a =3—4a,3—4a> 0 what is the value of a?

3

@ 7
of =

| 8
6

© 5

3

oy 3

V24 -10a =3-4a,3-4a >0 eraflé a ar Py wirg?
A)

(B)
©

ol =3|o ml' b | oo
cn

- D

180" he value of AJa b xfb e xyeta is

(A) abe

B) +abe

1
(C) abe

"-yl

&Gy Gan"@;&ﬂun'_@drm Jalbxyb e x+ela én 'I‘.D‘ﬂlll.r.[l.l.lll'ﬂ'?.

@) abe
(Bj Jaﬁc
1
@ ae
® 1



182, | I
The value of J_24$+1,‘52+Jl44 is

@ 14
7 16 |

© 18

D) 20

JMBP.’W —eir gy wrgi?
@ 14 |
® 16

© - 18

@ 20

183. [f:_t=l+J§ then the vnldeuf(x-l]g' is
: x

@ 2z

B V2
G 4

™ 8

.
x=1+2 aafld (x-%] —&m wdliy

@ 2
®
© 4 -

o 8












90.

11.

3 o6 397 po-630

7% 249

(A) 474 - ®) 714
(© 477 JBT 747

9@ crarauﬂm -2%; oLl 2 - oL@ 639 cafld seuQeudm?

(A) 474 B 14
(© 477 . D) 747

Simplify : 4 -[6 - {12 (10 - 8 + 6)j]

@ 4 o

€ 6 (D) 8

smé@s: 4-[6-{12-(10 -8 + 6))]
A 4 B 2
C 6 (D) 8

40% of 1640 + ? = 35% of 980 + 150% of 850

P o6 (B) 692 ©) 926
1640 G)ar 40% + ? = 980 B)er 36% + 850 Ger 150%
(A) 962 (B) 692 (C) 926
Find the missing numbers LS

4 W ¥

/z=s:y=12 ®) z=5;y=5 (C) x=12;y=5

QUi cTansmaTs STans % ===

(A) x=5;y=12 B) x=5;y=8 C) =x=12;y=5

(D) 629

® e

D) =x=12;y=12

D) 2=12;y=12



65. & The value of ¥8x® x27x’ x64x° is

66.

71.

73.

32,

@) 205° gr us € 28<
Y8x® x27x° x64x° @ear vy -
(A) 20" ®) 24x° © 282
Simplify :
5+{9-(6+2-(3-2)) /
@ 3 B) 5 7
(&GS -
5+{9-(6+2-(3-2))
A) 3 ®) 6 © 7
The value of

Jl+{l+45+]l4+~jl+~/§ is
@ 3 ®) 2 /J:?

1+Jl+ 5+V14+y1+49 @en iy

@ 3 ®) 2 © <8

If P =9 then the value of P(P? + 3P +3) is equal _
A 9 (B) 99 / 999

P =9 aaflé P(P? +3P +3)an L'oﬂuuna@
A 9 (B) 99 (C) 999

Find the value of Y-67-3-25+V-8

wr” 4 T® ¢
C 3 S D) -3
whliyé sTans : ~67-Y-25+4-8

A) —4 B 4

© 3 o -3

D)

(D)

D)

(D)

(D)

(D)

()

(D)

32x°

32z*



79.  Find the value of Y77 -Jlﬁu ++4/366 —/25

& 13 . ® 16

< 19 . V 8
wHUE srens: -J'f'r -Jlﬁn'+ 1,"366 —J25

(A 13 (B) 16
19 D) 8

80. If235 =38 and 452 = 45 then 345 =7
(A) 49 (B) €6

© 72 P 50

235 = 38 wpmb 452 = 45 eraflch 345 =7

(A) 49 : (B) 66 _
(C) 72 {Dy 50
174. Find the value of (1 - l) (l - l] (1 - l) ............ (1 ——1—-)
3 4 5 100
1 1
(A) 100 (B) 50
2 99
(C) 3 (D) 100

1 1
@ o0 "3
2 99
(© 3 2 (D) 100

176. Find the value of (0.98)" + 3(0.98)%(0.02) + 3(0.98)(0.02)* +(0.02)*

@ 2 w1

© o @™ 3

(0.98)° + 3(0.98)*(0.02) +3(0.98)(0.02)" +(0.02)" - én w1y

@A 2 B 1
© o (D) 3



0.728x«0.728 -0.272« 0,272

33. Simplify :

0.456
Ay  0.456 W 1 (€ 0728
sy 0.728=0.728 -0.272=0.272
0.456
{(A) 0.456 By 1 (Cy 0.728

34. If E:E, then Sx +2y is equal to
¥ B 1

x=2%
P
@ 3 o 5 © 2
x E Sx+2y L. .
375 ereafl 5x 2 STEMLIE| STHMEF F0LD
@ 3 ® 5 © 2

. ' 1.2x1.2x1.2-0.2x0.2x0.2
36, Find the value of —=
the value of 1.2x1.241.2x02+02x0.2

(A) 1.2 o © 02
1.2x1.2x1.2-0.2x0.2x 0.2
1.2x1.2+1.2=x0.24+0.2x0.2

(A) 1.2 B 1 Cy 02

—ar whlieus sne

156. If @* =b, &' =¢, ¢' = a, then what is the value of xyz?
A 3 (B) 4 C 9
a* =b, b’ =¢, ¢’ = a aala xyz-é WHLY erenen?

A 3 (B) 4 ) 9

(D} 0.272

®) 0.272

()

bo | on

(D)

(R}

Dy 1.4

(D) 1.4

o

(D) 1



140. Arrange in descending order :

12, 420, ¥25, V80, ¥112

o 80, V12, 420, §25, Wiz

® I8, YiZ, 420, Wi, Y
© 12, V80, ¥20, VY25, ¥12
@ V25, %12, 12, V80, Y20

Qi aflsde aws :
2, ¥20, V25, V80, W12

() V80,12, 420, ¥25, 112

® <80, 12, 20, W2, V25
© iz, Jso, Y20, ¥25, W12
@™  ¥25, %112, iz, V80, 20

37.  Find the value uf_Ju'—_'th-J' 19-49 -

@7 . ® s
6 ' : (D) 9_
g1 sy 41 - Y21 +19 -9 -
@ 7 a ® 5
© 6 - D s
" 8L The value of x in the equation (926" - (225)" =1000xis
806 ' ~ (B)" 805000 -
(C) - 1850 . (D) 185

ﬂmm@m ﬂn-mum_q.w xﬂl whi ereiran? (925)° - (225)" =1000x
(A) 805 - ' (B) * 805000
© 185 . @) 185



82

What could be the maximum value of R in the following equation, where P, @ and R

represent the unit values E'EP+3TQ +48R =1418

A 4 . - 8
©. o : _ {D) 6

b swdn o P, Q, mhpi R afume see o.piusd i, Rm&ﬂmumﬁuq
| aHieunE GuEE0n? 56P+3TQ+ 48R =1418 i

(A) 4 : _ - (B) 8
© 0 : D)y 6



151.

153.

Find JT4+J44+\122+45 +JE

@ 5 ® 7
© 6 @

Td+y44 +-JEE+\||5+JE -agis:rs'.s.

(A 5 ®B) 7
) 6 o _ ™ 9

For any two natural numbers p and g we define the operators A, v as follows
prg=p*+q’; pva=p'-¢°
then the value of (5v2)A25 is

(A) -184 : , ®) -525
o 1066 = ® 46

P, gerénp Qo Quc cdnsgni A, v arenp Aeudllsdr Gdaimuony aprupssiuGipg
prg=p’+q’; pvag=p’-¢°

st (5 v 2) A 25 -én wHoy

(a) —184 ' ®B) -5256

(C) 1066 ' D) 46



Y '.Fip:_lth;.vallue¢f.J_53+'y‘31+~J21tm .
BV B TN
* &
® 6

- L;ﬁﬁl;&snﬁr':déﬂ-.l-i_31+m
@ 71 |
® s

© s

175. " The HCF of x* —6x + 9, x* - 27 is -
(A x+3 e x-3
© x?-9 | @ x-9

x* ~ Bx +9 whgin x* ~ 27 -en BOQum Qun‘ﬁ smryent!
@ xes o B x-3
© -9 . D x-9



@ s S ® T

© 5 o 6
#56"‘ BJEE =
A) 8 B 7
{C_} 5 D) 6

- 180. TEe value -::-E_,ﬁ'ii'x 3":;;” :_-
ﬂﬂl 0.7 . o (B) 0.9

(C) 0.6 : T @) 08

[0.26 y 3.6 x4.9 anoBoy

V144 6.25
® 07 - . ® 09
© 06 D) 08
102. 1f8™ =32 thenmis
3 2
(A) 3 (B)
v 5
) 3 D) 3
8™ =32, 6rasflel m Gt LBy
3 2
(A) 3 (B) 3
5 5
©) 3 D) 3








